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A public good

S 0w

1s a good with zero marginal cost of production.

can only be provided by the government.

cannot be protected by private property rights.
allows concurrent consumption by many individuals.

The aggregate demand of a country will drop if

S 0w

the price level of the country rises.

the currency of its major trading partner appreciates.
the government spending on social welfare rises.
the required reserve ratio rises.




The ‘multiple entry permit” ( —%F 25 {7 ) for the permanent Shenzhen residents to visit Hong Kong has
been replaced by a ‘one trip per week cap’ ( —#&—17 ) . This would reduce Hong Kong’s

and

A.  aggregate demand ......
B. aggregate demand ......
C.  short-run aggregate supply ...... output level in the short run
D. long-run aggregate supply ...... output level in the long run

The following table shows the cost-output relationship of a price-taker.

Output (unifs)

Average cost ($)
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The market price 1s $20. Suppose the average cost has increased by $2 for every unit of output. The profit of

the firm will

increase by $16
increase by $14
decrease by $16
decrease by $14

output level in the long run
price level in the long run




The following diagram shows the Gini coefficient of Hong Kong based on original household income.
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Based on the above diagram, we can conclude that

the income level of Hong Kong people mcreased.

mncome for high income household increased while income for low income household
decreased.

the welfare policy failed to reduce the income mequality.

income gap had been widening.
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In his 2016-17 Budget, the Financial Secretary proposed to waive business registration fees for 2016-17. At
the same time, the personal basic tax allowance was raised from $120 000 to $132 000. Which of the
following best illustrates the effect of the above changes on the price and output levels?
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The table below shows the input-output relationship of a firm.

Averaggoul;{n of labour {units)
10
12
14
14
13

Machine (units) Labour {units)
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State the law of diminishing marginal returns and explain whether the above data illustrate the law.
{6 marks)
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Answers written in the margins will not be marked.

8. The following is the balance sheet of a banking system.

Assets (Smillion) Liabilitics ($million)
Reserves 1 000 Deposits 4 000
Loans 3 000

< S0V

Suppose the public always holds 3500 million of cash and the banking system does not hold ©XCESS rescrves.
-

=< \p 4 P0

(a) Calculate the monetary base and money supply. (2 marks)
The central bank increases the required reserve ratio to SS‘LA. wy f
() Calculate the change in monctary base and the c:angc in money supply. Show your working.
(4 marks)
(<) (i) Why is moncy supply often a few times more than monctary basc? (3 marks)
(ii) Under what situation will money supply be equal to monctary base? 1 mark)
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Answers written in the margins will not be marked.
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itten in the margins will not be marked.

A

15.

In Figure 3, MN and TU are the production possibility frontiers of Country A and Country B respectively.

g ——— —d
Good Y

A e

(a) Explain why the production possibility frontier of Country A is concave 1o the origin.

The production point of Country A without tra

Good X 124 units of Good Y.

=

>
Good X

(1 mark)

at which the domestic cost of production of 1 unit of

—
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